


Functions

Derivation (part 2)



Important Notes =%
AQif f(x) =U+xV then f'(x)=U +V
Aif f(x) =U.V then f'(x)=UV+V'U

u'v-v'u
VZ

QIf f(x) =~ then f'(x) =



Derivative

> f(x)=k keR ffx)=0 g(x) = —8then g'(x) =0
> f(x)=kx" k&neR f'(x) = knx"1 h(x) = 5x3 then h'(x) = 15x?
> f(x) = kU™ f'(x) = knu™ 1. U’ m(x) = 3(5x — 2)?
m'(x) =3 x2(5x—2)x5
— k _ () = 2
> f(x) kﬁ fl(x) _ m u(x) = —Sﬁ then u'(x) = N
> f(x) — k\/ﬁ fl(x) — k.U’ n(x) = 4-\/3x2 — 5x
2/U , 4.(6x —5)
n'(x) =
2V3x2 — 5x

o K



Solved Examples

f(x) = 3(—4x3 —5x% +1)7

f'(x) = 21(—4x3 — 522 + 1)°(—12x% — 10%)




Solved Examples

f(x) =5x1—-3x2%+2x7%

f'(x) = —-5x"%+6x3—8x"°
-5




Solved Examples

f(x) =\/7x2+5x+1+%

-1
f(x) =J7x2+5x+1+3x2

14x+5

2/7x2+5x+1
14x+5

2/7x2+5x+1

f'x) =




Solved Examples
f(x) = (2x + 1)(3x* — 5x)*

U =2
V' =4(3x% — 5x)°(6x — 5)

f'(x) =2(3x% - 53\7)4 + (2x + 1)4(3x% — 5x)3(6x —5)




Solved Examples

U =2
V' =4(3x% — 5x)°(6x — 5)

2(3x2-5x)" (2x+1)4(3x%5x)° (6x-5)
[(3x2-5x)4]"

f(x) =







